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Corporate Accounting
fuxe yi[kdu
Bachelor of Commerce (B.Com.-10/16)

Second Year, Examination - 2019

Time: 3 Hours Max. Marks: 80

Note:- This paper is of eighty (80) marks containing
three (03) section ‘A’, ‘B’ and ‘C’ Learners are
required to attempt the question contained in
these section according to the detailed

instructions given therein.
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Section-A Hi[k.M&d
(Long Answer Type Question) /inh?k mUkjh; 1" u

Note:- Section ‘A’ contains four (04) long answer type
question of nineteen(19) marks each. Learners are
required to answer two (02) questions only.

(19x2=38)
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fRrefefal &1 g9 W ®ad a1 (02) Ul B SR
Rl

1. What do you wunderstand by ‘Generally
Accepted Accounting Principles’? Explain in

details.
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Describe the need of accounting standards and
explain the setting up process of accounting

standard.

AGih AP DI IAAIThA] BT guie  PIToTY
TI Gibd HMd b AR B ufhar &y

A |

What is ‘Purchase consideration’? How is it

determined? Explain.

‘BT Idha’ & 2?39 fhw yer fAuiRa
forar SITaT 87 FHssy |

As at 31st March 2018, the balance sheet of a
company was as under: Rs.

I. Equity and Liabilities

GERIRC AL
1. Shareholders’ Funds:
(steremy i)
(a) Share capital:
SRR
65,000 preference share of Rs.20 each — 13,00,000
(65,000) YATEIHR T Fo 20 UAD)
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4,50,000 Equity Shares of Rs.10 each— 45,00,000
(4,50,000) FHAT 3 Fo 10 YU®)
(b) Resevers and Surplus:
(difra Td amfire)
Profit and Loss account -9,20,000
(SIEESIERCIS)
2. Current Liabilities:
CIEEURS)
Sundry Creditor - 11,50,000
(fafaer oFeR)

- 178,70,000

II. Assets:

1. Non Current Assets:
(R =T wwufr)
Plant & Machinery - 25,00,000
(weffve Td #eiR)
Furniture -9,20,000
CRIEN

2. Current Assets:

(ameg )

S-259/BC-07 P.T.O.



Stock (Efcrm) - 15,00,000
Debtors (SER) - 20,00,000
Investments (ﬁﬁ?ﬂﬁ) - 3,50,000
Cash at Bank (8% # J&<) - 6,00,000

78,70,000

The company redeemed its preference shares on 1st
April, 2018 and in order to facilitate the process, it
was decided:
(a) to sell investment at a loss of Rs.50,000
(b) to finance part of redemption from company’s
funds leaving a balance of Rs.3,00,000 in profit
and loss account and
(c) to issue sufficient equity shares of Rs.10 each
at a premium of Rs.2.50 per share to raise the
balance fund required.
The equity shares were fully subscribed and
preference shares were redeemed on the due date.
Pass necessary journal entries is the books of
company and prepare balance sheet of the company

after redemption.
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ST T 1 AU 2018 BT AR 3T BT e fHar

qr 39 ¥ | o form:

@)  fafarT @1 wo 50,000 BT B TR §=T MY,

@) v 'Y @ § So 3,00,000 BT AT BISHR AY
PN F A & oy faxig arawen & S *iR

@) U9 PN & forw gat AT # Fo 10 UAS AT
FHEAT AT BT Wo 250 URT 3 ARHA WR
fte faram S |

T AT 39 quiqar yifefd gU T qaifeieR e bl

o o fafr w8 |

AT B GIIDI W S ORI DISTY qAT HHT BT

anfdfer frgr, e & SR IR AR |

Section-B I[k.M&[k#
(Short Answer Type Question) /¥y kmUkjh; " ul

Note:- Section ‘B’ contain eight (08) short answer
type question of eight (08) marks each.
Learners are required to answer any four(04)

questions only. (4x8=32)
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UkVi& @vs @ #H 3e (08) &Y SIRI artel U A
™ 2| UG U B forw 37Ms (08) 3fd iRd
2| Rrenfe &1 399 9 dad IR (04) Ul B
IR T B |

1. Explain ‘Conservation Convention’.

wiedredl & WERT &I F98sY |

2. Explain ‘Forfeiture of Shares’

39 B BU— BT AT |

3. What is super profit? Describe.
JAMA FIT 2?2 oI BITY |

4. Define ‘Goodwill’
A B gRITRT BT |

5. Explain ‘Preferential Creditors’.
YaifdR oFeRl Bl qHSSY |
6. Explain ‘Dividend’ and ‘Bonous-issue’

AT R I BT gy |
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7. What is ‘underwriting’ explain.
[N FT & FH |
8. Following information relates to a company at

the end of a year:

(a) Total assets 8,25,000
(b) Total liabilities (short term only)2,45,000
(¢) Current year’s profit 1,30,000
(d) Normal rate of return 10%
(e) Goodwill (Valued) 1,11,500

Profits for last 3 years have shown an
increase of Rs.35,000 per annum. Company
has 25,000 equity shares of Rs.10 each in its
capital account.

Calculate the fair value of shares Ignore

taxation.

Uh 99 & ofd # g e el |
SEIEREE

@) g TRl 8,25,000
@) B TR (T T BIel) 2,45,000
(@) @Te 9% &1 A 1,30,000
@) YA B FHN X 10%
@) wnfa 1,11,500
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T 3 G & ™l H F030,000 U IY DI
qfg uafRid g &1 S*il & Yoil W ¥ 25,000
AT S YA wo 10 B Bl W BT S
T G DI | BRI BT & § 7 R |

Section-C Hi[k.M&X%
(Objective Type Questions) /{OLrfu'B 1"uk

Note:- Section ‘C’ contains ten (10) objective type
questions of One (01) marks each. All the
questions of this section are compulsory.

(10x1=10)
UkVI& BT 7 # g9 (10) e we i T
UAd U b Y T (01) 3 FMEiRd €1 9
grg & 9l e A € |

Indicate whether the following statements are True

or False:
1. Shares can be issued on discount.
3fert @1 ge R e fdar ST Awdar 2
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Accounting standard-14 (AS-14) is related to

amalgamation of companies.

AGiHd ATDH—14 ( AS-14) FHMIT & TDHIHRT
q FEfdd 2|

Final dividend can be declared by a company
any time during the year.

U B b gRI SAfaH e 99 b SR
foredy +ff wwa Sfa fosam o7 e 2 |

A debenture sinking found cannot be non-
cumulative.

T Fo uF RifhT woe s—werl T g Adhdr
=

In absence of super profit, goodwill will be

Zero.

A & 9 B R, 1A I B |

Fill in the blanks:

10
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Capital redemption reserve is utilized for fully

paid

for

Alteration in share capital is a part of

e Yol H RATT oo B Th IR

=

Part II of schedule III of Companies Act is

related to of company.

AT JAATTH DT AT 1T BT 91T 1T ...
GISEIERE
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10.

Rate of Interest on calls in advance cannot be

more than

*khkkkk
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